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                                                               Practice 7 Problems
                                                                     4 problems
                                                                    SOLUTIONS


Practice 7 Problems
sec 8.1 ......p585, prob 8, 10
sec 8.2.......p594, prob 6, 29


 ______________________________________________________________________


1]  Sec 8.1  p585, prob 8
      Using the Law of Sines, solve the triangle.
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SOLUTION
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The sum of all the interior angles in a triangle is equal to  180 degrees.
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Solve this equation  for the remaining angle, 
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, that we don't know in the triangle.
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Now to find the sides we don't know - side 
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 and side 
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 - in the triangle.
Use the Law of Sines.
For side 
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For side 
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2]  Sec 8.1  p585, prob 10
      Are there zero, one, or two triangles with the given measurements? (Do not solve the triangle.)
      Which case, if any, of Table 2 on page 582 of the textbook applies? Explain.
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SOLUTION
Look at Table 2, page 582 of the textbook.

The given angle 
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 is acute, meaning the measure of  the angle is less than 
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.
The side 
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 is greater than the side 
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.
So our problem falls under case (d).

The conclusion is that there is one triangle
that is the unique solution to our problem



3]   Sec 8.2  p594, prob 6
        Using the Law of Cosines, solve the triangle.
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SOLUTION

                                                                               angle 
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We want to find the measure of the side 
[image: image33.wmf]a


Use the Law of Cosines written for the side 
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So
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Now take the square root of both side.
To one decimal place, the answer is 
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To find the other two angles, let's use the Law of Sines.
For angle 
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Using only 4 decimal places (round-off) for the value of the sine function,
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For angle 
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NOTE: The values you get may be different, depending on the number of decimal places used in the arithmetic.



4]   Sec 8.2  p594, prob 29
         Show that for any triangle
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SOLUTION

Let's start from the right side of the equation and try to get the left side of the equation.

Use the Law of Cosines to write expressions for  
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So
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    Finished!
  





                  We have verified the identity.
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